# MODIFIED JAIN-PETHE-BASKAKOV-DURRMEYER OPERATORS AND THEIR QUANTITATIVE ESTIMATES 

Honey Sharma and Ramapati Maurya*


#### Abstract

In this paper, we present a modification of Jain-Pethe-Baskakov-Durrmeyer operators and estimate their moments. Then, we establish the uniform convergence of the proposed family of operators. Further, we use modulus of continuity and $K$-functional to establish local approximation behavior of these operators. Also, we compute the rate of convergence of the operators through Lipschitz class functions. In the last section, we present some quantitative results for difference of the proposed operators with Jain-Pethe operators and Durrmeyer type variant of Jain-Pethe-Baskakov operators.


## 1. Introduction

Research work in the field of mathematical analysis is significantly contributed by the approximation via sequence of linear positive operators which has not only the applications in mathematics but also in the field of engineering and physics. Weierstrass approximation theorem lead the foundation of approximation theory and strongly propagated by a classy proof of the aforesaid theorem, given by S. N. Bernstein [18]. In 1930, an integral form of Bernstein operators was introduced by Kantorovich [16] and in 1957, Baskakov [17] investigated another class of operators in the linear space $C[0, \infty)$ known as Baskakov operators. Later, in order to approximate the Lebesgue integrable functions, Durrmeyer [19] introduced another integral type generalization of Bernstein operators. Recently, Kantorovich and Durrmeyer type generalization of several operators were presented and investigated for their approximation behavior; see [13, 14, 15].

In context of the present article, Jain-Pethe operators [11] are given by

$$
J_{m}^{(\alpha)}(f ; x)=\sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x) f\left(\frac{r}{m}\right), \text { for } 0 \leqslant m \alpha \leqslant 1
$$

where

$$
\begin{aligned}
s_{m, r}^{[\alpha]}(x) & =(1+m \alpha)^{\frac{-x}{\alpha}}\left(\alpha+\frac{1}{m}\right)^{-r} \frac{x^{(r,-\alpha)}}{r!}, \quad x \in[0, \infty), \\
x^{(r,-\alpha)} & =x(x+\alpha) \ldots(x+(r-1) \alpha), \quad x^{(0,-\alpha)}=1,
\end{aligned}
$$

[^0]and $\alpha=\left(\alpha_{m}\right)_{m \in \mathbb{N}}$ is such that $0 \leqslant \alpha_{m} \leqslant \frac{1}{m}$.
By considering a new parameter $\lambda>0$, a modification of Jain-Pethe operators was introduced by Abel and Ivan [10] as follows:
$$
L_{m, \lambda}(f ; x)=\sum_{r=0}^{\infty} g_{m, r, \lambda}(x) f\left(\frac{r}{m}\right)
$$
where $g_{m, r, \lambda}($.$) is the basis function defined as$
$$
g_{m, r, \lambda}(x)=\left(\frac{\lambda}{1+\lambda}\right)^{m \lambda x} \frac{(m \lambda x)_{r}}{r!} \frac{1}{(1+\lambda)^{r}}
$$
and $(m)_{r}=\prod_{i=0}^{r-1}(m+i),(m)_{0}=1$ denotes the Pochhammer symbol.
Lemma 1. [9] Moments of Jain-Pethe operators are given as follows:
\[

$$
\begin{aligned}
L_{m, \lambda}(1 ; x) & =1 \\
L_{m, \lambda}(t ; x) & =x \\
L_{m, \lambda}\left(t^{2} ; x\right) & =x^{2}+\left(\frac{1+\lambda}{\lambda}\right) \frac{x}{m} \\
L_{m, \lambda}\left(t^{3} ; x\right) & =x^{3}+\left(\frac{2(1+\lambda)+1}{\lambda}\right) \frac{x^{2}}{m}+\left(\frac{(1+\lambda)^{2}+1}{\lambda^{2}}\right) \frac{x}{m^{2}} .
\end{aligned}
$$
\]

Inspired by the above studies, here, we introduce a modification of Jain-Pethe-Baskakov-Durrmeyer operators using the basis function considered by Abel and Ivan [10] and study their approximation properties.

## 2. Construction of operator

For $f \in C[0, \infty)$, we define modified form of Jain-Pethe-Baskakov-Durrmeyer operators, as follows:

$$
J_{m}^{\lambda}(f ; x)=(m-1) \sum_{r=0}^{\infty} g_{m, r, \lambda}(x) \int_{0}^{\infty}\left[\begin{array}{c}
m+r-1  \tag{1}\\
r
\end{array}\right] \frac{t^{r}}{(1+t)^{m+r}} f(t) d t
$$

where $g_{m, r, \lambda}($.$) is the basis function.$
Now, we recall the definition of well-known $\beta$-function given as follows:

$$
\begin{equation*}
\beta(m, n)=\int_{0}^{\infty} \frac{x^{m}}{(1+x)^{m+n}} d x, \quad m, n>0 \tag{2}
\end{equation*}
$$

Lemma 2. For $l \in \mathbb{N}$ and

$$
I_{l}(m, r)=(m-1) \int_{0}^{\infty}\left[\begin{array}{c}
m+r-1 \\
r
\end{array}\right] \frac{t^{r}}{(1+t)^{m+r}} t^{l} d t
$$

we have

$$
I_{l}(m, r)=\frac{(r+1)(r+2) \ldots \ldots(r+l)}{(m-2)(m-3) \ldots(m-l-1)}, \quad l \geqslant 1
$$

and $I_{0}(m, r)=1$.

Proof. Using definition of $\beta$-function, we have

$$
\begin{aligned}
I_{l}(m, r) & =(m-1) \int_{0}^{\infty}\left[\begin{array}{c}
m+r-1 \\
r
\end{array}\right] \frac{t^{r}}{(1+t)^{m+r}} t^{l} d t \\
& =(m-1)\left[\begin{array}{c}
m+r-1 \\
r
\end{array}\right] \beta(r+l+1, m-l-1) \\
& =\frac{(r+1)(r+2) \ldots(r+l)}{(m-2)(m-3) \ldots(m-l-1)} .
\end{aligned}
$$

Lemma 3. For $e_{k}=t^{k}, k=0,1,2,3$, the moments of the operators (1) are as follows:
(i) $J_{m}^{\lambda}\left(e_{0} ; x\right)=1$,
(ii) $J_{m}^{\lambda}\left(e_{1} ; x\right)=\frac{m x-1}{m-2}$,
(iii) $J_{m}^{\lambda}\left(e_{2} ; x\right)=\frac{1}{(m-2)(m-3)}\left[m^{2} x^{2}+\left(\frac{(1+\lambda)}{\lambda}\right) m x+3 m x+2\right]$,
(iv) $J_{m}^{\lambda}\left(e_{3} ; x\right)=\frac{1}{(m-2)(m-3)(m-4)}\left[m^{3} x^{3}+\left(\frac{2(1+\lambda)+1}{\lambda}+6\right) m^{2} x^{2}\right.$

$$
\left.+\left(\frac{(1+\lambda)^{2}+1}{\lambda^{2}}+6 \frac{(1+\lambda)}{\lambda}+11\right) m x+6\right]
$$

Proof. For $f(t)=t^{k}, k=0,1,2,3$, the proposed operators can be expressed as:

$$
J_{m}^{\lambda}\left(t^{k} ; x\right)=\sum_{r=0}^{\infty} g_{m, r, \lambda}(x) I_{k}(m, r)
$$

For $k=0$, we have

$$
\begin{aligned}
J_{m}^{\lambda}\left(e_{0} ; x\right) & =\sum_{r=0}^{\infty} g_{m, r, \lambda}(x) I_{0}(m, r) \\
& =L_{m, \lambda}(1 ; x) \\
& =1
\end{aligned}
$$

Using Lemma $1 \& 2$ together with the equation (2), we have

$$
\begin{aligned}
J_{m}^{\lambda}\left(e_{1} ; x\right) & =\sum_{r=0}^{\infty} g_{m, r, \lambda}(x) I_{1}(m, r) \\
& =\sum_{r=0}^{\infty} g_{m, r, \lambda}(x) \frac{(r+1)}{(m-2)} \\
& =\frac{1}{(m-2)} \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)(r+1) \\
& =\frac{1}{(m-2)}\left(m L_{m, \lambda}(t ; x)+L_{m, \lambda}(1 ; x)\right) \\
& =\frac{m x-1}{m-2} .
\end{aligned}
$$

Following above for $e_{2}=t^{2}$, we have

$$
\begin{aligned}
J_{m}^{\lambda}\left(e_{2} ; x\right) & =\sum_{r=0}^{\infty} g_{m, r, \lambda}(x) I_{2}(m, r) \\
& =\sum_{r=0}^{\infty} g_{m, r, \lambda}(x) \frac{(r+1)(r+2)}{(m-2)(m-3)} \\
& =\frac{1}{(m-2)(m-3)} \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(r^{2}+3 r+2\right) \\
& =\frac{1}{(m-2)(m-3)}\left(m^{2} L_{m, \lambda}\left(t^{2} ; x\right)+3 m L_{m, \lambda}(t ; x)+2 L_{m, \lambda}(1 ; x)\right) \\
& =\frac{1}{(m-2)(m-3)}\left[m^{2} x^{2}+\left(\frac{(1+\lambda)}{\lambda}\right) m x+3 m x+2\right]
\end{aligned}
$$

Similarly, for $e_{3}=t^{3}$, we have

$$
\begin{aligned}
J_{m}^{\lambda}\left(e_{3} ; x\right)= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x) I_{3}(m, r) \\
= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x) \frac{(r+1)(r+2)(r+3)}{(m-2)(m-3)(m-4)} \\
= & \frac{1}{(m-2)(m-3)(m-4)} \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(r^{3}+6 r^{2}+11 r+6\right) \\
= & \frac{1}{(m-2)(m-3)(m-4)}\left(m^{3} L_{m, \lambda}\left(t^{3} ; x\right)+6 m^{2} L_{m, \lambda}\left(t^{2} ; x\right)\right. \\
& \left.+11 m L_{m, \lambda}(t ; x)+6 L_{m, \lambda}(1 ; x)\right) \\
= & \frac{1}{(m-2)(m-3)(m-4)}\left[m^{3} x^{3}+\left(\frac{2(1+\lambda)+1}{\lambda}+6\right) m^{2} x^{2}\right. \\
& \left.+\left(\frac{(1+\lambda)^{2}+1}{\lambda^{2}}+6 \frac{(1+\lambda)}{\lambda}+11\right) m x+6\right] .
\end{aligned}
$$

LEMMA 4. The central moments of the operators (1) are as follows:

$$
\begin{aligned}
J_{m}^{\lambda}(t-x ; x)= & \frac{1}{m-2}(2 x-1), \\
J_{m}^{\lambda}\left((t-x)^{2} ; x\right)= & \frac{1}{(m-2)(m-3)}\left[(m+6) x^{2}+\left(\frac{1+\lambda}{\lambda}+\frac{5 m-6}{m}\right) m x+2\right], \\
J_{m}^{\lambda}\left((t-x)^{3} ; x\right)= & \frac{1}{(m-2)(m-3)(m-4)} \\
& \times\left[2(5 m+12) x^{3}+\left(\frac{12 m}{\lambda}-13 m^{2}+69 m-36\right) x^{2}\right. \\
& \left.+\left(\frac{(1+\lambda)^{2}+1}{\lambda^{2}} m+\frac{6 m}{\lambda}+11 m+24\right) x+6\right]
\end{aligned}
$$

## Theorem 1. Let

$$
E=\left\{\psi: x \in[0, \infty), \frac{\psi(x)}{1+x^{2}} \text { converges as } x \rightarrow \infty\right\}
$$

and $C[0, \infty)$ be the linear space of all real valued continuous functions defined in $[0, \infty)$. Then, for $f \in E \cap C[0, \infty)$ and $\lambda>0$, the sequence of operators $\left\{J_{m}^{\lambda}(f ; .)\right\}_{m \in \mathbb{N}}$ uniformly converges to $f$ on every compact subset of $[0, \infty)$.

Proof. Considering Lemma 3, we have

$$
\lim _{m \rightarrow \infty} J_{m}^{\lambda}\left(e_{\kappa} ; x\right)=x^{\kappa}, \quad \kappa=0,1,2
$$

uniformly on every compact subset of $[0, \infty)$ and then following [8, Theorem 3.1], we obtain the required result.

## 3. Convergence behavior of the operators

Consider a subspace $C_{B}[0, \infty)$ of $C[0, \infty)$, as the space all real valued bounded continuous functions defined in $[0, \infty)$ equipped with supremum norm.

THEOREM 2. (Local approximation theorem) For $f \in C_{B}[0, \infty)$, there exists $a$ positive constant $M>0$ satisfying

$$
\left|J_{m}^{\lambda}(f ; x)-f(x)\right| \leqslant M \omega_{2}\left(f, \delta_{m}(x)\right)+\omega\left(f,\left|\frac{2 x-1}{m-2}\right|\right), \quad \forall x \in[0, \infty)
$$

where

$$
\begin{aligned}
\delta_{m}^{2}(x)= & \frac{1}{(m-2)^{2}(m-3)}\left(\left(m^{2}+8 m-24\right) x^{2}+\left(\left(6 m^{2}-22 m+24\right)\right.\right. \\
& \left.\left.+\frac{m(m-2)}{\lambda}\right) x+(3 m-7)\right)
\end{aligned}
$$

Proof. To prove the result, we shall employ certain tools of quantitative approximation. For details, readers may refer to [3, Theorem 2.4].

For $f \in C_{B}[0, \infty)$, we define

$$
\tilde{J}_{m}^{\lambda}(f ; x)=J_{m}^{\lambda}(f ; x)+f(x)-f\left(\frac{m x-1}{m-2}\right)
$$

Using Lemma 3, we immediately get, $\tilde{J}_{m}^{\lambda}(t-x ; x)=0$.
For $g \in W^{2}=\left\{\psi \in C_{B}[0, \infty): \psi^{\prime}, \psi^{\prime \prime} \in C_{B}[0, \infty)\right\}$, by applying Taylor's series formula, we have

$$
\psi(t)=\psi(x)+(t-x) \psi^{\prime}(x)+\int_{x}^{t}(t-u) \psi^{\prime \prime}(u) d u
$$

On applying the operator $\left\{\tilde{J}_{m}^{\lambda}\right\}$ in the above equation, we have

$$
\begin{aligned}
\tilde{J}_{m}^{\lambda}(\psi ; x)= & \psi(x)+\tilde{J}_{m}^{\lambda}\left(\int_{x}^{t}(t-u) \psi^{\prime \prime}(u) d u ; x\right) \\
= & \psi(x)+J_{m}^{\lambda}\left(\int_{x}^{t}(t-u) \psi^{\prime \prime}(u) d u ; x\right) \\
& -\int_{x}^{\frac{m x-1}{m-2}}\left(\frac{m x-1}{m-2}-u\right) \psi^{\prime \prime}(u) d u .
\end{aligned}
$$

Thus,

$$
\begin{aligned}
\left|\tilde{J}_{m}^{\lambda}(\psi ; x)-\psi(x)\right| & \leqslant J_{m}^{\lambda}\left(\int_{x}^{t}\left|t-u \| \psi^{\prime \prime}(u)\right| d u ; x\right)+\int_{x}^{\frac{m x-1}{m-2}}\left|\frac{m x-1}{m-2}-u\right|\left|\psi^{\prime \prime}(u)\right| d u \\
& \leqslant J_{m}^{\lambda}\left((t-x)^{2} ; x\right)\left\|\psi^{\prime \prime}\right\|+\left(\frac{m x-1}{m-2}-x\right)^{2}\left\|\psi^{\prime \prime}\right\|
\end{aligned}
$$

On applying Lemma 4, we get

$$
\begin{aligned}
\left|\tilde{J}_{m}^{\lambda}(\psi ; x)-\psi(x)\right| \leqslant & \left(\frac{1}{(m-2)(m-3)}\left[(m+6) x+\left(\frac{1+\lambda}{\lambda}+\frac{5 m-6}{m}\right) m x+2\right]\right. \\
& \left.+\left(\frac{m x-1}{m-2}-x\right)^{2}\right)\left\|\psi^{\prime \prime}\right\| \\
= & \frac{1}{(m-2)^{2}(m-3)}\left(\left(m^{2}+8 m-24\right) x^{2}+\left(\left(6 m^{2}-22 m+24\right)\right.\right. \\
& \left.\left.+\frac{m(m-2)}{\lambda}\right) x+(3 m-7)\right)\left\|\psi^{\prime \prime}\right\| \\
= & \delta_{m}^{2}(x)\left\|\psi^{\prime \prime}\right\| .
\end{aligned}
$$

Also, $\left|\tilde{J}_{m}^{\lambda}(f ; x)\right| \leqslant 3\|f\|$. We observe that, for $f \in C_{B}[0, \infty)$ and $\psi \in W^{2}$, we get

$$
\begin{aligned}
\left|J_{m}^{\lambda}(f ; x)-f(x)\right|= & \left|\tilde{J}_{m}^{\lambda}(f ; x)-f(x)+f\left(\frac{m x-1}{m-2}\right)-f(x)\right| \\
\leqslant & \left|\tilde{J}_{m}^{\lambda}(f-\psi ; x)\right|+\left|\tilde{J}_{m}^{\lambda}(\psi ; x)-\psi(x)\right| \\
& +|\psi(x)-f(x)|+\left|f\left(\frac{m x-1}{m-2}\right)-f(x)\right| \\
\leqslant & 4\|f-\psi\|+\delta_{m}^{2}(x)\left\|\psi^{\prime \prime}\right\|+\omega\left(f,\left|\frac{2 x-1}{m-2}\right|\right) \\
\leqslant & 4\left(\|f-\psi\|+\delta_{m}^{2}(x)\left\|\psi^{\prime \prime}\right\|\right)+\omega\left(f,\left|\frac{2 x-1}{m-2}\right|\right) .
\end{aligned}
$$

For all $\psi \in W^{2}$, on the right hand side, taking the infimum, we obtain

$$
\left|J_{m}^{\lambda}(f ; x)-f(x)\right| \leqslant 4 K_{2}\left(f, \delta_{m}^{2}(x)\right)+\omega\left(f,\left|\frac{2 x-1}{m-2}\right|\right)
$$

Finally, we get

$$
\left|J_{m}^{\lambda}(f ; x)-f(x)\right| \leqslant M \omega_{2}\left(f, \delta_{m}(x)\right)+\omega\left(f,\left|\frac{2 x-1}{m-2}\right|\right),
$$

which is the required result.
The Lipschitz type subspace [12] of the space $C[0, \infty)$ is defined as

$$
\operatorname{Lip}_{M}^{*}(r)=\left\{f \in C[0, \infty):|f(t)-f(x)| \leqslant M_{f} \frac{|t-x|^{r}}{(t+x)^{\frac{r}{2}}} ; t, x \geqslant 0\right\}
$$

here $M_{f}$ is a positive constant which depends on the function $f$ and $0<r \leqslant 1$.

THEOREM 3. If $f \in \operatorname{Lip} p_{M}^{*}(r)$ and $0<r \leqslant 1$, then for $x>0$,

$$
\left|J_{m}^{\lambda}(f(t) ; x)-f(x)\right| \leqslant M_{f}\left(\frac{\delta_{m}(x)}{\sqrt{x}}\right)^{r}
$$

Proof. For $f \in \operatorname{Lip} p_{M}^{*}(r)$,

$$
\begin{aligned}
& \left|J_{m}^{\lambda}(f(t) ; x)-f(x)\right| \\
\leqslant & (m-1) \sum_{\kappa=0}^{\infty} g_{m, \kappa, \lambda}(x) \int_{0}^{\infty}\left[\begin{array}{c}
m+\kappa-1 \\
\kappa
\end{array}\right] \frac{t^{\kappa}}{(1+t)^{m+\kappa}}|f(t)-f(x)| d t \\
\leqslant & (m-1) \sum_{\kappa=0}^{\infty} g_{m, \kappa, \lambda}(x) \int_{0}^{\infty}\left[\begin{array}{c}
m+\kappa-1 \\
\kappa
\end{array}\right] \frac{t^{\kappa}}{(1+t)^{m+\kappa}} M_{f} \frac{|t-x|^{r}}{(t+x)^{\frac{r}{2}}} d t .
\end{aligned}
$$

Applying the integral form of Holder's inequality with $\alpha=\frac{2}{2-r}, \beta=\frac{2}{r}$, we get

$$
\begin{aligned}
& \left|J_{m}^{\lambda}(f(t) ; x)-f(x)\right| \\
\leqslant & (m-1) M_{f} \sum_{\kappa=0}^{\infty} g_{m, \kappa, \lambda}(x)\left(\int_{0}^{\infty}\left[\begin{array}{c}
m+\kappa-1 \\
\kappa
\end{array}\right] \frac{t^{\kappa}}{(1+t)^{m+\kappa}} d t\right)^{\frac{(2-r)}{2}} \\
& \times\left(\int_{0}^{\infty}\left[\begin{array}{c}
m+\kappa-1 \\
\kappa
\end{array}\right] \frac{t^{\kappa}}{(1+t)^{m+\kappa}} \frac{|t-x|^{2}}{(t+x)} d t\right)^{\frac{r}{2}} .
\end{aligned}
$$

Again, applying summation form of Holder's inequality for $\alpha=\frac{2}{2-r}, \beta=\frac{2}{r}$, we obtain

$$
\begin{aligned}
& \left|J_{m}^{\lambda}(f(t) ; x)-f(x)\right| \\
\leqslant & M_{f}\left((m-1) \sum_{\kappa=0}^{\infty} g_{m, \kappa, \lambda}(x) \int_{0}^{\infty}\left[\begin{array}{c}
m+\kappa-1 \\
\kappa
\end{array}\right] \frac{t^{\kappa}}{(1+t)^{m+\kappa}} d t\right)^{\frac{(2-r)}{2}} \\
& \times\left((m-1) \sum_{r=0}^{\infty} g_{m, \kappa, \lambda}(x) \int_{0}^{\infty}\left[\begin{array}{c}
m+\kappa-1 \\
\kappa
\end{array}\right] \frac{t^{\kappa}}{(1+t)^{m+\kappa}} \frac{|t-x|^{2}}{(t+x)} d t\right)^{\frac{r}{2}} \\
\leqslant & \frac{M_{f}}{(\sqrt{x})^{r}}\left(J_{m}^{\lambda}\left((t-x)^{2} ; x\right)\right)^{\frac{r}{2}} .
\end{aligned}
$$

By setting $\delta_{m}^{2}(x)=J_{m}^{\lambda}\left((t-x)^{2} ; x\right)$, we obtain the desired result.

## 4. Quantitative estimates on difference of operators

In recent years, Acu and Rasa [1], have established some results for the difference of operators by involving the operators constructed on the same basis but having different functional. Later, Aral et al. [2] and V. Gupta [6, 4] also contributed some interesting theorems on polynomial differences in order to answer the problem raised by A. Lupas [5].

Recently, Gupta and Acu [7] established some results and estimated some numerical computations on the difference of operators having different basis functions. Following the results proved by Gupta and Acu in [7], here, in this section, some quantitative results have been presented for the difference of the proposed operators with the operators having different basis function.

Let $C(I)$ be the space of all real valued continuous functions defined on an interval $I \subset \mathbb{R}$ and $C_{B}(I)=\left\{f \in C(I):\|f\|=\sup _{x \in I}|f(x)|<\infty\right\}$.

Further, we consider a positive linear functional $H: C(I) \rightarrow \mathbb{R}$ with $H\left(e_{0}\right)=1$ and we set

$$
\begin{aligned}
b^{H} & =H\left(e_{1}\right), \\
\mu_{r}^{H} & =H\left(e_{1}-b^{H} e_{0}\right)^{r}, \quad r \in \mathbb{N} .
\end{aligned}
$$

Theorem 4. ([7, Theorem 2.1]) Let

$$
U_{m}=\sum_{r=0}^{\infty} p_{m, r}(x) H_{m, r}(\psi) \quad \text { and } \quad V_{m}=\sum_{r=0}^{\infty} s_{m, r}(x) G_{m, r}(\psi)
$$

be positive linear operators having their basis as $p_{m, r}(x)$ and $s_{m, r}(x)$ respectively. If $\psi \in D(I)$ with $\psi^{\prime \prime} \in C_{B}(I)$, then

$$
\left|\left(U_{m}-V_{m}\right)(\psi ; x)\right| \leqslant \phi(x)| | \psi^{\prime \prime}| |+2 \omega_{1}\left(\psi ; \delta_{1}(x)\right)+2 \omega_{1}\left(\psi ; \delta_{2}(x)\right),
$$

where

$$
\begin{aligned}
\phi(x) & =\frac{1}{2} \sum_{r=0}^{\infty}\left(p_{m, r}(x) \mu_{2}^{H_{m, r}}+s_{m, r}(x) \mu_{2}^{G_{m, r}}\right), \\
\delta_{1}^{2}(x) & =\sum_{r=0}^{\infty} p_{m, r}(x)\left(b^{H_{m, r}}-x\right)^{2}, \\
\delta_{2}^{2}(x) & =\sum_{r=0}^{\infty} s_{m, r}(x)\left(b^{G_{m, r}}-x\right)^{2} .
\end{aligned}
$$

Using the above assumptions, the proposed operators $\left\{J_{m}^{c}\right\}$ can be expressed as

$$
J_{m}^{\lambda}(f ; x)=\sum_{r=0}^{\infty} g_{m, r, \lambda}(x) H_{m, r}(f),
$$

here

$$
H_{m, r}(f)=(m-1) \int_{0}^{\infty}\left[\begin{array}{c}
m+r-1 \\
r
\end{array}\right] \frac{t^{r}}{(1+t)^{m+r}} f(t) d t .
$$

Remark 1. By using Lemma 2, we have

$$
H_{m, r}\left(e_{i}\right)=\frac{(r+1)(r+2) \ldots \ldots(r+i)}{(m-2)(m-3) \ldots(m-i-1)}, \quad i=1,2, \ldots .
$$

and $H_{m, r}\left(e_{0}\right)=1$. Following the above equation, we get

$$
b^{H_{m, r}}=\frac{(r+1)}{(m-2)}
$$

and

$$
\begin{aligned}
\mu_{2}^{H_{m, r}} & =H_{m, r}\left(e_{1}-b^{H_{m, r}} e_{0}\right)^{2} \\
& =H_{m, r}\left(e_{2}\right)-\left(H_{m, r}\left(e_{1}\right)\right)^{2} \\
& =\frac{(r+1)(r+2)}{(m-2)(m-3)}-\frac{(r+1)^{2}}{(m-2)^{2}} \\
& =\frac{r^{2}+m r+m-1}{(m-2)^{2}(m-3)}
\end{aligned}
$$

### 4.1. Difference of the proposed operators with classical Jain-Pethe operators

For $0 \leqslant \alpha m \leqslant 1$ and $f:[0, \infty) \rightarrow \mathbb{R}$, Jain-Pethe operators [11] can be expressed as

$$
J_{m}^{(\alpha)}(f ; x)=\sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x) T_{m, r}(f),
$$

here $T_{m, r}(f)=f\left(\frac{r}{m}\right)$.
Lemma 5. ([8, Lemma 2.1]) Some initial Moments for Jain-Pethe operators are given as

$$
\begin{aligned}
J_{m}^{(\alpha)}(1 ; x)= & 1 \\
J_{m}^{(\alpha)}(t ; x)= & x \\
J_{m}^{(\alpha)}\left(t^{2} ; x\right)= & x^{2}+\left(\alpha+\frac{1}{m}\right) x, \\
J_{m}^{(\alpha)}\left(t^{3} ; x\right)= & x^{4}+6\left(\alpha+\frac{1}{m}\right) x^{2}+\left(11 \alpha^{2}+\frac{18 \alpha}{m}+\frac{7}{m^{2}}\right) x^{2} \\
& +\left(6 \alpha^{3}+\frac{12 \alpha^{2}}{m}+\frac{7 \alpha}{m^{2}}+\frac{1}{m^{3}}\right) x .
\end{aligned}
$$

Now, we have following quantitative result for the difference of the proposed operators with Jain-Pethe operators.

Proposition 1. Let $\psi, \psi^{\prime}, \psi^{\prime \prime} \in C_{B}[0, \infty)$ and $x \in[0, \infty)$. Then, for $m \in \mathbb{N}$,

$$
\mid\left(J_{m}^{\lambda}-J_{m}^{(\alpha)}(\psi ; x)\left|\leqslant \phi_{1}(x)\right| \mid \psi^{\prime \prime} \|+2 \omega_{1}\left(\psi ; \delta_{1}(x)\right)+2 \omega_{1}\left(\psi ; \delta_{2}(x)\right),\right.
$$

where

$$
\begin{aligned}
\phi_{1}(x)= & \frac{1}{2(m-2)^{2}(m-3)}\left(m^{2} x^{2}+\left(\frac{(1+\lambda)}{\lambda}+m\right) m x+m-1\right) \\
\delta_{1}^{2}(x)= & \frac{m^{2}}{(m-2)^{2}}\left(x^{2}+\left(\frac{(1+\lambda)}{\lambda}\right) \frac{x}{m}+2[1-(m-2) x] \frac{x}{m}\right. \\
& \left.+\frac{1-2(m-2) x+(m-2)^{2} x^{2}}{m^{2}}\right)
\end{aligned}
$$

and

$$
\delta_{2}^{2}(x)=\left(\alpha+\frac{1}{m}\right) x
$$

Proof. Here, we observe that Theorem 4 validates the Proposition. It remains only to compute the values of $\phi_{1}(x), \delta_{1}(x)$ and $\delta_{2}(x)$ as investigated in Theorem 4.

Using Remark 1, we have

$$
\begin{aligned}
\phi_{1}(x) & =\frac{1}{2} \sum_{r=0}^{\infty}\left(g_{m, r, \lambda}(x) \mu_{2}^{F_{m, r}}+s_{m, r}^{[\alpha]}(x) \mu_{2}^{T_{m, r}}\right) \\
& =\frac{1}{2} \sum_{r=0}^{\infty}\left[g_{m, r, \lambda}(x)\left(\frac{r^{2}+m r+m-1}{(m-2)^{2}(m-3)}\right)+s_{m, r}^{[\alpha]}(x) T_{m, r}\left(e_{1}-b^{T_{m, r}} e_{0}\right)^{2}\right] \\
& =\frac{1}{2} \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(\frac{r^{2}+m r+m-1}{(m-2)^{2}(m-3)}\right)
\end{aligned}
$$

Now, applying the Lemma 1, we get

$$
\begin{aligned}
\phi_{1}(x) & =\frac{1}{2(m-2)^{2}(m-3)}\left(m^{2} L_{m, \lambda}\left(e_{2} ; x\right)+m^{2} L_{m, \lambda}\left(e_{1} ; x\right)+(m-1)\right) \\
& =\frac{1}{2(m-2)^{2}(m-3)}\left(m^{2} x^{2}+\left(\frac{(1+\lambda)}{\lambda}+m\right) m x+m-1\right)
\end{aligned}
$$

Similarly,

$$
\begin{aligned}
\delta_{1}^{2}(x)= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(b^{F_{m, r}}-x\right)^{2} \\
= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(F_{m, r}\left(e_{1}\right)-x\right)^{2} \\
= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(\frac{(r+1)}{(m-2)}-x\right)^{2} \\
= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(\frac{(r+1)^{2}}{(m-2)^{2}}-2 x \frac{(r+1)}{(m-2)}+x^{2}\right) \\
= & \frac{m^{2}}{(m-2)^{2}} \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(r^{2}+2[1-(m-2) x] r\right. \\
& \left.+1-2(m-2) x+(m-2)^{2} x^{2}\right) \\
= & \frac{1}{(m-2)^{2}}\left(m^{2} L_{m, \lambda}\left(e_{2} ; x\right)+2 m[1-(m-2) x] L_{m, \lambda}\left(e_{1} ; x\right)\right. \\
& \left.+1-2(m-2) x+(m-2)^{2} x^{2}\right) \\
= & \frac{m^{2}}{(m-2)^{2}}\left(x^{2}+\left(\frac{(1+\lambda)}{\lambda}\right)^{2} \frac{x}{m}+2[1-(m-2) x] \frac{x}{m}\right. \\
& \left.+\frac{1-2(m-2) x+(m-2)^{2} x^{2}}{m^{2}}\right) .
\end{aligned}
$$

and

$$
\begin{aligned}
\delta_{2}^{2}(x) & =\sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x)\left(b^{T_{m, r}}-x\right)^{2} \\
& =\sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x)\left(T_{m, r}\left(e_{1}\right)-x\right)^{2} \\
& =\sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x)\left(\frac{r}{m}-x\right)^{2} \\
& =\sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x)\left(\frac{r^{2}}{m^{2}}-2 x \frac{r}{m}+x^{2}\right) \\
& =\left(J_{m}^{(\alpha)}\left(e_{2} ; x\right)-2 x J_{m}^{(\alpha)}\left(e_{1} ; x\right)+x^{2}\right) \\
& =\left(x^{2}+\left(\alpha+\frac{1}{m}\right) x-2 x^{2}+x^{2}\right) \\
& =\left(\alpha+\frac{1}{m}\right) x . \square
\end{aligned}
$$

### 4.2. Difference with Jain-Pethe-Durrmeyer-Baskakov operators

For $f:[0, \infty) \rightarrow \mathbb{R}$, Jain-Pethe-Durrmeyer-Baskakov operators defined by Dev and Pratap [8], can be expressed as

$$
P_{m, \alpha}(f ; x)=\sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x) F_{m, r}(f)
$$

where

$$
\begin{aligned}
s_{m, r}^{[\alpha]}(x) & =(1+m \alpha)^{\frac{-x}{\alpha}}\left(\alpha+\frac{1}{m}\right)^{-r} \frac{x^{(r,-\alpha)}}{r!}, \quad x \in[0, \infty), \\
x^{(r,-\alpha)} & =x(x+\alpha) \ldots(x+(r-1) \alpha), \quad x^{(0,-\alpha)}=1
\end{aligned}
$$

and $\alpha=\left(\alpha_{m}\right)_{m \in \mathbb{N}}$ is such that $0 \leqslant \alpha_{m} \leqslant \frac{1}{m}$.
Lemma 6. ([8, Lemma 2.1]) Some initial Moments for Jain-Pethe-DurrmeyerBaskakov operators are given as

$$
\begin{aligned}
P_{m, \alpha}(1 ; x)= & 1 \\
P_{m, \alpha}(t ; x)= & \frac{(m-3)!}{(m-2)!}(m x+1!) \\
P_{m, \alpha}\left(t^{2} ; x\right)= & \frac{(m-4)!}{(m-2)!}\left((m x)^{2}+(\alpha m+4)(m x)+2!\right) \\
P_{m, \alpha}\left(t^{3} ; x\right)= & \frac{(m-5)!}{(m-2)!}\left((m x)^{3}+(3 \alpha m+2)(m x)^{2}\right. \\
& \left.+\left(2 \alpha^{2} m^{2}+9 \alpha m+19\right)(m x)+3!\right)
\end{aligned}
$$

Now, we give the quantitative estimates for the difference of the proposed operators with Jain-Pethe-Durrmeyer-Baskakov operators.

Proposition 2. Let $\psi, \psi^{\prime}, \psi^{\prime \prime} \in C_{B}[0, \infty)$ and $x \in[0, \infty)$. Then for $m \in \mathbb{N}$, we have

$$
\left|\left(J_{m}^{\lambda}-P_{m, \alpha}\right)(\psi ; x)\right| \leqslant \phi_{1}(x)\left\|\psi^{\prime \prime}\right\|+2 \omega_{1}\left(\psi ; \delta_{1}(x)\right)+2 \omega_{1}\left(\psi ; \delta_{2}(x)\right)
$$

where

$$
\begin{aligned}
\phi_{1}(x)= & \frac{m^{2}}{2(m-2)^{2}(m-3)}\left(2\left[x^{2}+x+\frac{(m-1)}{m^{2}}\right]+\left(\alpha+\frac{1}{m}\right) x+\left(\frac{1+\lambda}{\lambda}\right) \frac{x}{m}\right) \\
\delta_{1}^{2}(x)= & \frac{m^{2}}{(m-2)^{2}}\left(x^{2}+\left(\frac{1+\lambda}{\lambda}\right) \frac{x}{m}+2[1-(m-2) x] \frac{x}{m}\right. \\
& \left.+\frac{1-2(m-2) x+(m-2)^{2} x^{2}}{m^{2}}\right)
\end{aligned}
$$

and

$$
\begin{aligned}
\delta_{2}^{2}(x)= & \frac{m^{2}}{(m-2)^{2}}\left(x^{2}+\left(\alpha+\frac{1}{m}\right) x+2[1-(m-2) x] \frac{x}{m}\right. \\
& \left.+\frac{1-2(m-2) x+(m-2)^{2} x^{2}}{m^{2}}\right) .
\end{aligned}
$$

Proof. Here, we observe that Theorem 4 validates the Proposition. It remains only to compute the values of $\phi_{1}(x), \delta_{1}(x)$ and $\delta_{2}(x)$ as investigated in Theorem 4. Using Remark 1, we have

$$
\begin{aligned}
\phi_{1}(x) & =\frac{1}{2} \sum_{r=0}^{\infty}\left(g_{m, r, \lambda}(x) \mu_{2}^{F_{m, r}}+s_{m, r}^{[\alpha]}(x) \mu_{2}^{F_{m, r}}\right) \\
& =\frac{1}{2} \sum_{r=0}^{\infty}\left(s_{m, r}^{[\alpha]}(x)+g_{m, r, \lambda}(x)\right)\left(\frac{r^{2}+m r+m-1}{(m-2)^{2}(m-3)}\right) .
\end{aligned}
$$

Now, using the moments of Jain-Pethe operators and Lemma 1 in above, we get

$$
\begin{aligned}
\phi_{1}(x)= & \frac{1}{2(m-2)^{2}(m-3)}\left(m^{2} J_{m}^{(\alpha)}\left(e_{2} ; x\right)+m^{2} J_{m}^{(\alpha)}\left(e_{1} ; x\right)\right. \\
& \left.+(m-1)+m^{2} L_{m, \lambda}\left(e_{2} ; x\right)+m^{2} L_{m, \lambda}\left(e_{1} ; x\right)+(m-1)\right) \\
= & \frac{m^{2}}{2(m-2)^{2}(m-3)}\left(x^{2}+\left(\alpha+\frac{1}{m}\right) x+x+\frac{(m-1)}{m^{2}}\right. \\
& \left.+x^{2}+\left(\frac{1+\lambda}{\lambda}\right) \frac{x}{m}+x+\frac{(m-1)}{m^{2}}\right) \\
= & \frac{m^{2}}{2(m-2)^{2}(m-3)}\left(2\left[x^{2}+x+\frac{(m-1)}{m^{2}}\right]+\left(\alpha+\frac{1}{m}\right) x+\left(\frac{1+\lambda}{\lambda}\right) \frac{x}{m}\right) .
\end{aligned}
$$

Similarly,

$$
\begin{aligned}
\delta_{1}^{2}(x)= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(b^{F_{m, r}}-x\right)^{2} \\
= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(F_{m, r}\left(e_{1}\right)-x\right)^{2} \\
= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(\frac{(r+1)}{(m-2)}-x\right)^{2} \\
= & \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(\frac{(r+1)^{2}}{(m-2)^{2}}-2 x \frac{(r+1)}{(m-2)}+x^{2}\right) \\
= & \frac{1}{(m-2)^{2}} \sum_{r=0}^{\infty} g_{m, r, \lambda}(x)\left(r^{2}+2[1-(m-2) x] r\right. \\
& \left.+1-2(m-2) x+(m-2)^{2} x^{2}\right) \\
= & \frac{1}{(m-2)^{2}}\left(m^{2} L_{m, \lambda}\left(e_{2} ; x\right)+2 m[1-(m-2) x]\right. \\
& \left.\times L_{m, \lambda}\left(e_{1} ; x\right)+1-2(m-2) x+(m-2)^{2} x^{2}\right) \\
= & \frac{m^{2}}{(m-2)^{2}}\left(x^{2}+\left(\frac{1+\lambda}{\lambda}\right) \frac{x}{m}+2[1-(m-2) x] \frac{x}{m}\right. \\
& \left.+\frac{1-2(m-2) x+(m-2)^{2} x^{2}}{m^{2}}\right)
\end{aligned}
$$

and

$$
\begin{aligned}
\delta_{2}^{2}(x)= & \sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x)\left(b^{F_{m, r}}-x\right)^{2} \\
= & \sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x)\left(F_{m, r}\left(e_{1}\right)-x\right)^{2} \\
= & \sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x)\left(\frac{(r+1)}{(m-2)}-x\right)^{2} \\
= & \sum_{r=0}^{\infty} s_{m, r}^{[\alpha]}(x)\left(\frac{(r+1)^{2}}{(m-2)^{2}}-2 x \frac{(r+1)}{(m-2)}+x^{2}\right) \\
= & \frac{1}{(m-2)^{2}} \sum_{r=0}^{\infty} s_{m, r}^{[\alpha}(x)\left(r^{2}+2[1-(m-2) x] r\right. \\
& \left.+1-2(m-2) x+(m-2)^{2} x^{2}\right)
\end{aligned}
$$

$$
\begin{aligned}
= & \frac{1}{(m-2)^{2}}\left(m^{2} J_{m}^{(\alpha)}\left(e_{2} ; x\right)+2 m[1-(m-2) x] J_{m}^{(\alpha)}\left(e_{1} ; x\right)\right. \\
& \left.+1-2(m-2) x+(m-2)^{2} x^{2}\right) \\
= & \frac{m^{2}}{(m-2)^{2}}\left(x^{2}+\left(\alpha+\frac{1}{m}\right) x+2[1-(m-2) x] \frac{x}{m}\right. \\
& \left.+\frac{1-2(m-2) x+(m-2)^{2} x^{2}}{m^{2}}\right) .
\end{aligned}
$$

## 5. Conclusion

In this work, we have presented the construction of the generalized Jain-Pethe-Baskakov-Durrmeyer operators and established their uniform convergence. Further, the convergence properties of the operators have been studied by means of modulus of continuity, $K$-functional and Lipschitz class functions. Also, we have discussed some quantitative results for difference of the generalized operators with the family of JainPethe operators.

Conflict of interest. The authors declare that they have no conflict of interest.

## REFERENCES

[1] A. M. Acu and I. Rasa, New Estimates for the Differences of Positive Linear Operators, Numer. Algorithms, 73 (2016), 775-789.
[2] A. Aral, D. Inoan and I. Rasa, On Differences of Positive Linear Operators, Anal. Math. Phys., 9 (2019), 1227-1239.
[3] R. A. Devore and G. G. Lorentz, Constructive Approximation, Springer, Berlin, 1993.
[4] V. Gupta, General Estimates for the Difference of Operators, Comp. and Math. Methods, 1 (2019).
[5] A. Lupaş, The Approximation by means of some Linear Positive Operators, In Approximation Theory (M. W. Muller others, eds), Akademie-Verlag, Berlin, (1995), 201-227.
[6] V. Gupta, Differences of Operators of Lupas Type, Const. Math. Analy., 1 (1) (2018), 9-14.
[7] V. Gupta and A. M. Acu, On Difference of Operators with Different Basis Function, Faculty of Sciences and Mathematics; Nis Serbia, Filomat, 33:10 (2019), 3023-3034.
[8] N. DeV and R. Pratap, Approximation by Integral form of Jain-Pethe Operators, Pro. Natl. Acad. Sci. India, Sect. A Phys. Sci. (2020).
[9] V. Gupta and J. Bustamante, Kantorovich Variant of Jain-Pethe Operators, Numerical Functional Analysis and Optimization, Taylor \& Francis, (2021).
[10] U. Abel and M. Ivan, On a generalization of an approximation operator defined by A. Lupaş, Gen. Math., 15 (1) (2007), 21-34.
[11] G. C. Jain and S. Pethe, On the generalization of Bernstein and Szász-Mirakjan operators, Nanta Math, 10 (1977), 185-193.
[12] O. SzÁsZ, Generalizations of S Bernstein's Polynomial to the Infinite Interval, J. Res. Nat. Bur. Stand., 45 (1950), 239-245.
[13] H. Sharma, R. Maurya and C. Gupta, Approximation Properties of Kantorovich Type Modifications of ( $p, q$ )-Meyer-König-Zeller Operators, Const. Math. Analy., 1 (1) (2018), 58-72.
[14] H. Sharma, C. Gupta and R. Maurya, On Approximation by $(p, q)$-Meyer-König-Zeller Durrmeyer Operators, Khayyam J. Math., 5 (1) (2019), 113-124.
[15] H. Sharma, R. Maurya, Durrmeyer Type Modification of $(p, q)$-Szász, Mirakjan Operators and their Quantitative Estimates, Creat. Math. Inform., 30 (1) (2021), 97-106.
[16] L. V. Kantorovich, Sur Certain Developpments Suivant les Polynomes De La Forme de S. Bernstein, I, II, C. R. Acad. URSS, (1930), 563-568.
[17] V. A. Baskakov, A Sequence of Positive Linear Operators in the Space of Continuous Functions, Dokl. Akad. Nauk SSSR, 113 (1957), 249-251.
[18] S. N. Bernstein, Sur les Recherches Recentes Relatives á Lameilleure Approximation des Fonctions Continues par les Polynomes, Proc. of 5th Inter. Math. Congress, 1 (1912), 256-266.
[19] J. L. Durrmeyer, Une Formule d' Inversion de la Transformee de Laplace: Applications a la Theorie des Moments, These de 3e Cycle, Faculte des Sciences de l' Universite de Paris, Paris (1967).
(Received December 19, 2022)
Honey Sharma
Gulzar Group of Institutes
Punjab, India
e-mail: pro.sharma.h@gmail.com
Ramapati Maurya
School of Sciences
Manav Rachna University
Faridabad, India
e-mail: ramapatimaurya@gmail.com


[^0]:    Mathematics subject classification (2020): 41A25, 41A35.
    Keywords and phrases: Jain-Pethe operators, Baskakov operators, beta function, modulus of continuity, Peetre's $K$-functional.
    *Corresponding author.

